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720 LHS 4 cH 2,357,173 2,313,452 43,721
721 M3 2,357,173 2,313,452 43,721
721-03 JIEteIH &Y= 2,357,173 2,313,452 43,721
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== 79,564 82,464 22,900
Al 2,446,042 2,339,300 106,742
ZZHYHRFN 2,419,070 2,313,452 105,618
308 AtXIHHMSO0I& 2,419,070 2,313,452 105,618
07 MXISH2RE2 2,419,070 2,313,452 105,618
o220 &=l
22X 2,419,070,000 2,419,070 2,313,452 105,618
(D)ASSAHSHS20(Z4) 373,500 383,000 A14,500
= 298,800 310,400 11,600
== 74,700 77,600 A2,900
307 212t01™ 373,500 388,000 14,500
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HRES(SXNEED) (ASISX /I ZHESE) 166,258 149,500 16,758
SBAENE(Yz300I2E3H) 166,258 149,500 16,758
PEXNE 166,258 149,500 16,758
802 Btat=DIEt 166,258 149,500 16,758
01 = 0EX3ee3 116,563 90,000 26,563
OS2 SNEXZ TSHEH
AN 116,562,740 116,563 90,000 26,563
02 Al - SHIEXZ8He3 49,695 59,500 29,805




2A SXER
B

S XH—‘?—Q%(%XI’S@EH( ISR/ ZNERH)
ce: BEXE(A220II2SESAH)
SA - B G9|(3) - HSAR - BaS 0l &kt ol & o
O2SZ0HAME AlZHIEES TEHEH
38 29,140,920 29, 141 40,000

od

i

=2
SEIEIE

()

d3 20,553,210& 20,554 19,500






